
31/5/1 1 P.T.O. 

narjmWu H moS H mo CÎma-nwpñVH m Ho  _wI-n¥ð 
na Adí` {bIo§ &
Candidates must write the Code on the 

title page of the answer-book. 

 Series JMS/5 H moS Z§.      
Code No.

amob Z§. 
Roll No.

{dkmZ 
SCIENCE 

{ZYm©[aV g_` : 3 KÊQ o   A{YH V_ A§H  : 80 

Time allowed : 3 hours Maximum Marks : 80  

 H¥ n`m Om±M H a b| {H  Bg àíZ-nÌ _o§ _w{ÐV n¥ð 15 h¢ &

 àíZ-nÌ _| Xm{hZo hmW H s Amoa {XE JE H moS Zå~a H mo NmÌ CÎma-nwpñVH m Ho  _wI-n¥ð na
{bI| &

 H¥ n`m Om±M H a b| {H  Bg àíZ-nÌ _| 27 àíZ h¢ &

 H¥ n`m àíZ H m CÎma {bIZm ewê  H aZo go nhbo, àíZ H m H« _m§H  Adí` {bI| &

 Bg  àíZ-nÌ  H mo n‹TZo Ho {bE 15 {_ZQ H m g_` {X`m J`m h¡ &  àíZ-nÌ H m {dVaU
nydm©• _| 10.15 ~Oo {H `m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH  NmÌ Ho db àíZ-nÌ H mo
n‹T |Jo Am¡a Bg Ad{Y Ho Xm¡amZ do CÎma-nwpñVH m na H moB© CÎma Zht {bI|Jo &

 Please check that this question paper contains 15 printed pages.

 Code number given on the right hand side of the question paper should be

written on the title page of the answer-book by the candidate.

 Please check that this question paper contains 27 questions.

 Please write down the Serial Number of the question before

attempting it.

 15 minute time has been allotted to read this question paper. The question

paper  will  be  distributed  at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer

on the answer-book during this period.

31/5/1 

SET-1
CBSE Class 10 Science Qs Paper 2019



31/5/1 2 

gm_mÝ` {ZX}e :

(i) Bg àíZ-nÌ H mo nm±M ^mJm|, A, ~, g, X Am¡a ¶ ‘| ~m±Qm J¶m h¡ & AmnH mo g^r ^mJm| Ho
àíZm| Ho  CÎma {bIZo h¢ & 

(ii) g^r  àíZ A{Zdm`© h¢ & 

(iii) ^mJ ~, g, X Am¡a ¶ Ho àíZm| ‘| Am§V[aH M¶Z {X¶m J¶m h¡ &

(iv) ^mJ A Ho  àíZ g§»`m 1 Am¡a 2 EH -EH  A§H  Ho  àíZ h¢ & BZHo  CÎma EH  eãX AWdm 
EH dmŠ` _| XoZo h ¢ & 

(v) ^mJ ~ Ho  àíZ g§»¶m 3 go 5 Xmo-Xmo A§H m| Ho  àíZ h¢ & BZHo  CÎma bJ^J 30 eãXm| àË`oH
‘| XoZo h¢ & 

(vi) ^mJ g Ho  àíZ g§»¶m 6 go 15 VrZ-VrZ A§H m| Ho  àíZ h¢ & BZHo  CÎma bJ^J 50 eãXm| 
àË`oH  ‘| XoZo h¢ & 

(vii) ^mJ X Ho  àíZ g§»¶m 16 go 21 nm±M-nm±M A§H m| Ho  àíZ h¢ & BZHo  CÎma bJ^J 70 eãXm| 
àË`oH  ‘| XoZo h¢ & 

(viii) ^mJ ¶ Ho  àíZ g§»¶m 22 go 27 à¶moJmË‘H H m¡eb na AmYm[aV Xmo-Xmo A§H m| Ho  àíZ h¢ & 
BZHo  g§{jßV CÎma XoZo h¢ & 

General Instructions : 

(i) The question paper comprises five Sections, A, B, C, D and E. You are to

attempt All the sections.

(ii) All questions are compulsory.

(iii) Internal choice is given in Sections B, C, D and E.

(iv) Questions number 1 and 2 in Section A are one-mark questions. They are

to be answered in one word or in one sentence.

(v) Questions number 3 to 5 in Section B are two-marks questions. These are

to be answered in about 30 words each.

(vi) Questions number 6 to 15 in Section C are three-marks questions. These

are to be answered in about 50 words each.

(vii) Questions number 16 to 21 in Section D are five-marks questions. These

are to be answered in about 70 words each.

(viii) Questions number 22 to 27 in Section E are based on practical skills.

Each question is a two-marks question. These are to be answered in brief.
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^mJ A 
SECTION A 

1. Amo‘ H m {Z¶‘ {b{IE & 1 

State Ohm’s law.

2. ~m¶moJ¡g g§¶§Ì ‘| eof ~Mr ñbar ‘| CnpñWV {H Ýht Xmo nmofH m| Ho Zm‘ {b{IE & 1 

Name any two nutrients that the spent slurry has in the biogas plant.

^mJ ~ 
SECTION B 

3. {H gr CÎmb Xn©U Ho ‘w»¶ Aj Ho g‘mÝVa Amn{VV {H gr àH me {H aU H s VXZwê nr
namd{V©V {H aU H m nW Xem©Zo Ho {bE Zm‘m§{H V {H aU AmaoI It{ME & Bg AmaoI na
AmnVZ H moU Am¡a namdV©Z H moU A§{H V H s{OE & 2 

Draw a labelled ray diagram to show the path of the reflected ray

corresponding to an incident ray of light parallel to the principal axis of a

convex mirror. Mark the angle of incidence and angle of reflection on it.

4. {H gr Ymamdmhr grYo MmbH  Ho  {ZH Q H moB© Mwå~H s¶ gwB© aIr h¡ & {ZåZ{b{IV àH aUm| Ho
{bE AnZo àojU {b{IE Am¡a àË¶oH  àojU Ho  {bE H maU ^r Xr{OE : 2

(a) {dÚwV² Ymam Ho n[a‘mU ‘| d¥{Õ H s J¶r h¡ &
(b) Mwå~H s¶ gwB© H mo MmbH  go Xÿa bo Om¶m J¶m h¡ &
A compass needle is placed near a current carrying straight conductor. 

State your observation for the following cases and give reasons for the 

same in each case : 

(a) Magnitude of electric current is increased.

(b) The compass needle is displaced away from the conductor.

5. HCl Am¡a CH3COOH ‘| go H m¡Z-gm Xþ~©b Aåb h¡ Am¡a ³¶m| ? {H gr CXmhaU H s
ghm¶Vm go ì¶m»¶m H s{OE & 2 

AWdm
‘‘gmo{S¶‘ hmBS´ moOZ H m~m}ZoQ EH jmar¶ bdU h¡ &’’ Bg H WZ H s nwpîQ H s{OE & Bgo YmoZo
Ho gmoS o ‘| {H g àH ma n[ad{V©V {H ¶m OmVm h¡ ? 2 

Out of HCl and CH3COOH, which one is a weak acid and why ? Explain

with the help of an example.

OR

‘‘Sodium hydrogen carbonate is a basic salt.’’ Justify this statement. How

is it converted into washing soda ?
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^mJ g 
SECTION C 

6. AmZwd§{eH s H s n[a^mfm {b{IE & ~mKm| H s g§»¶m ‘| H ‘r hmoZm AmZwd§{eH Vm Ho ÑpîQH moU
go qMVm H m {df¶ ³¶m| h¡ ? g§jon ‘| ì¶m»¶m H s{OE & 3 

Define genetics. Why is decrease in the number of surviving tigers a

cause of concern from the point of view of genetics ? Explain briefly.

7. {H gr AdVb Xn©U H s ’ moH g Xÿar 20 cm h¡ & Bg Xn©U go 4 cm bå~o {H gr {~å~ H mo
{H VZr Xÿar na aI| {H  CgH m à{V{~å~ Xn©U go 30 cm Xÿar na ~Zo & ~ZZo dmbo à{V{~å~
H m gmBµO ^r n[aH {bV H s{OE & 3 

AWdm 

{H gr CÎmb b|g Ûmam {H gr {~å~ H mo b|g go 12 cm Xÿar na aIo OmZo na CgH m {~å~ Ho
gmBµO H m 2/3 JwZm, dmñV{dH  à{V{~å~ ~ZVm h¡ & b|g H s ’ moH g Xÿar kmV H s{OE & 3

A concave mirror has a focal length of 20 cm. At what distance from the 

mirror should a 4 cm tall object be placed so that it forms an image at a 

distance of 30 cm from the mirror ? Also calculate the size of the image 

formed. 

OR 

A real image 2/3rd of the size of an object is formed by a convex lens when 

the object is at a distance of 12 cm from it. Find the focal length of the 

lens. 

8. {H gr ewîH ³dWZ Zbr ‘| \o ag gë’o Q Ho 2 g {H« ñQbm| H mo J‘© {H ¶m J¶m h¡ &
(a) {H Ýht Xmo àojUm| H s gyMr ~ZmBE &
(b) hmoZo dmbr amgm`{ZH  A{^{H« ¶m H m àH ma {b{IE &

(c) A{^{H« ¶m H m g§Vw{bV amgm¶{ZH g‘rH aU {b{IE Am¡a ~ZZo dmbo CËnmXm| H m
Zm‘ {b{IE & 3

AWdm 

AmnZo ¶h ZmoQ {H ¶m hmoJm {H O~ {H gr Mm¶Zm {Se ‘| H m°na nmCSa (MyU©) J‘© {H ¶m
OmVm h¡, Vmo H m°na Ho  nmCSa Ho  a³Vm^ ^yao n¥îR na {H gr H mbo nXmW© H s naV ~Z OmVr 
h¡ &  
(a) ¶h H mbm nXmW© ³¶m| ~Z J¶m ?
(b) ¶h H mbm nXmW© ³¶m h¡ ?
(c) hmoZo dmbr A{^{H« ¶m H m amgm¶{ZH g‘rH aU {b{IE &
(d) n¥îR na ~Zr Bg H mbr naV H mo {H g àH ma a³Vm^ ^yar {H ¶m Om gH Vm h¡ ? 3
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2 g of ferrous sulphate crystals are heated in a dry boiling tube. 

(a) List any two observations.

(b) Name the type of chemical reaction taking place.

(c) Write balanced chemical equation for the reaction and name the

products formed.

OR 

You might have noted that when copper powder is heated in a china dish, 

the reddish brown surface of copper powder becomes coated with a black 

substance. 

(a) Why has this black substance formed ?

(b) What is this black substance ?

(c) Write the chemical equation of the reaction that takes place.

(d) How can the black coating on the surface be turned reddish

brown ?

9. Amhma ûm¥§Ibm {H go H hVo h¢ ? {H gr nm[aV§Ì ‘| D Om© àdmh EH {X{eH  ³¶m| hmoVm h¡ ?

g§{jßV ì¶m»¶m H s{OE & 3 

AWdm 
(a) amîQ´ r¶ CÚmZm| H mo CZHo Am{X‘ (nyd©) ñdê n ‘| hr ³¶m| ahZo XoZm Mm{hE ?

(b) dñVwAm| Ho nwZ: MH« U H s VwbZm ‘| CZH m nwZ: Cn¶moJ ~ohVa ³¶m| h¡ ? 3

What is a food chain ? Why is the flow of energy in an ecosystem 

unidirectional ? Explain briefly. 

OR 

(a) Why should National Parks be allowed to remain in their pristine

form ?

(b) Why is reuse of materials better than recycling ?

10. Ho H H mo H mo‘b Am¡a ñn§Or ~ZmZo Ho  {bE Ho H  ~ZmVo g‘¶ Cg‘| EH ídoV nmCSa {‘bm¶m
OmVm h¡ & Bg nmCSa Ho  à‘wI Ad¶dm| Ho Zm‘ {b{IE VWm àË¶oH  Ad¶d Ho  H m¶© H s
ì¶m»¶m H s{OE & g|H Zo H s Ad{Y ‘| nmCSa H mo J‘© H aZo na hmoZo dmbr A{^{H« ¶m H m
amgm¶{ZH g‘rH aU {b{IE & 3 

A white powder is added while baking cakes to make it soft and spongy.

Name its main ingredients. Explain the function of each ingredient.

Write the chemical reaction taking place when the powder is heated

during baking.
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11. Xmo d¥ÎmmH ma Hw ÊS{b¶m± P Am¡a Q EH -Xÿgao Ho g‘rn aIr h¢, {OZ_| go Hw ÊSbr P go Ymam
àdm{hV hmo ahr h¡ & Hw ÊSbr Q Ho {gam| Ho ~rM g§¶mo{OV J¡ëdoZmo‘rQa ‘| Amn ³¶m àojU
H a|Jo :

(a) ¶{X Hw ÊSbr P ‘| Ymam n[ad{V©V H s OmE ?

(b) ¶{X XmoZm| Hw ÊS{b¶m| H mo g‘mZ {Xem ‘| g‘mZ Mmb go J{V H am¶r OmE ?

àË¶oH àH aU ‘| AnZo CÎma H s H maU g{hV nwpîQ H s{OE & 3

Two circular coils P and Q are kept close to each other, of which coil P 

carries a current. What will you observe in the galvanometer connected 

across the coil Q  

(a) if current in the coil P is changed ?

(b) if both the coils are moved in the same direction with the same

speed ?

Give reason to justify your answer in each case. 

12. (a) nmXnm| ‘| CnpñWV Xmo Ob g§dhZ D VH m| Ho Zm‘ {b{IE & O‹Sm| Ho µOmBb‘ ‘| Ob
AZdaV J{V go {H g àH ma àdoe H aVm h¡ ? 

(b) ì¶m»¶m H s{OE {H OÝVwAm| H s VwbZm ‘| nmXnm| H s D Om© H s Amdí¶H VmE± H ‘
³¶m| hmoVr h¢ & 3

(a) Write two water conducting tissues present in plants. How does

water enter continuously into the root xylem ?

(b) Explain why plants have low energy needs as compared to

animals.

13. Eogm ³¶m| h¡ {H  {H gr {gZoßg (A§VJ«©WZ) ‘| {g½Zb H m àdmh EH V§{ÌH m H mo{eH m Ho
V§{ÌH mj (E³gm°Z) {gao go Xÿgar V§{ÌH m H mo{eH m Ho Ðþ‘mH¥ {VH {gao H s Amoa hmoVm h¡, naÝVw
BgH s {dnarV {Xem ‘| Zht hmoVm ? ñnîQ H s{OE & 3 

Why does the flow of signals in a synapse from axonal end of one neuron

to dendritic end of another neuron take place but not in the reverse

direction ? Explain.

14. D Om© H s ~‹TVr ‘m±J Ho n¶m©daUr¶ n[aUm‘m| H m C„oI H s{OE & D Om© H s InV H mo H ‘
H aZo Ho  Mma Cnm¶m| H s gyMr ~ZmBE & 3 

Mention the environmental consequences of the increasing demand for

energy. List four steps you would suggest to reduce the consumption of

energy.
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15. H moB© A¶ñH  VZw hmBS´ mo³bmo[aH  Aåb Ho  gmW A{^{H« ¶m H aHo  Vrd« ~wX~wXmhQ CËnÞ H aVm
h¡ & EH  CXmhaU g{hV Bg àH ma Ho  A¶ñH  H m Zm‘ {b{IE & g‘¥Õ A¶ñH go YmVw H mo
àmßV H aZo Ho  {bE {H Z-{H Z MaUm| H s Amdí¶H Vm hmoJr ? Bg à{H« ¶m ‘| gpå‘{bV
A{^{H« ¶mAm| Ho amgm¶{ZH g‘rH aU ^r {b{IE & 3 

An ore on treatment with dilute hydrochloric acid produces brisk

effervescence. Name the type of ore with one example. What steps will be

required to obtain metal from the enriched ore ? Also write the chemical

equations for the reactions involved in the process.

^mJ X 
SECTION D 

16. (a) H maU Xr{OE {H  Eogm ³¶m| h¡ {H  H m~©Z Z Vmo C4+ YZm¶Z ~Zm gH Vm h¡ Am¡a Z 
hr C4– G Um¶Z ~Zm gH Vm h¡, naÝVw ghg§¶moOr Am~ÝY ~ZmVm h¡ & BgH s ì¶m»¶m 
H aZo Ho  {bE ^r H maU Xr{OE {H  ghg§¶moOr ¶m¡{JH   
(i) {dÚwV² Ho  Hw MmbH  ³¶m| hmoVo h¢; VWm

(ii) BZ ¶m¡{JH m| Ho  JbZm§H  Am¡a ³dWZm§H  {ZåZ ³¶m| hmoVo h¢ &

(b) ~oÝµOrZ (C6H6) H m g§aMZmË‘H gyÌ {b{IE & 5 

AWdm 

(a) ‘g‘md¶d’ nX H s n[a^mfm {b{IE &
(b) Xmo ¶m¡{JH m| H m g‘mZ AmpÊdH gyÌ C3H6O h¡ & BZ XmoZm| ¶m¡{JH m| Ho Zm‘ Am¡a

g§aMZmË‘H gyÌ {b{IE &
(c) Amn {ZåZ{b{IV n[adV©Z {H g àH ma H a|Jo :

(i) EWoZm°b H mo EWrZ ‘|
(ii) àmonoZm°b H mo àmonoZm°BH Aåb ‘| 5

(a) State the reason why carbon can neither form C4+ cations nor

C4– anions, but forms covalent bonds. Also state reasons to explain

why covalent compounds

(i) are bad conductors of electricity.

(ii) have low melting and boiling points.

(b) Write the structural formula of benzene, C6H6.

OR 

(a) Define the term ‘isomer’.

(b) Two compounds have same molecular formula C3H6O. Write the

name of these compounds and their structural formula.

(c) How would you bring the following conversions :

(i) Ethanol to ethene

(ii) Propanol to propanoic acid
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17. (a) 5 cm D± Mm H moB© {~å~ 20 cm ’ moH g Xÿar Ho {H gr CÎmb b|g Ho ‘w»¶ Aj na
Aj Ho  bå~dV² aIm h¡ & {~å~ H s b|g go Xÿar 30 cm h¡ & ~ZZo dmbo à{V{~å~ 
H s pñW{V, àH¥ {V Am¡a gmBµO kmV H s{OE & 

(b) Cn`w©³V àH aU Ho  {bE àH me {H aU AmaoI It{ME VWm Cg_| {~å~ Xÿar,
à{V{~å~ Xÿar VWm ’ moH g Xÿar Zm‘m§{H V H s{OE & 5

(a) A 5 cm tall object is placed perpendicular to the principal axis of a

convex lens of focal length 20 cm. The distance of the object from

the lens is 30 cm. Find the position, nature and size of the image

formed.

(b) Draw a labelled ray diagram showing object distance, image

distance and focal length in the above case.

18. (a) AmYw{ZH AmdV© gmaUr ‘| VÎdm| Ho YmpËdH bjU ‘| {H g àH ma n[adV©Z hmoVo h¢ :
(i) {H gr AmdV© ‘| ~m¶t Amoa go Xm¶t Amoa OmZo na ?

(ii) {H gr g‘yh (J«wn) ‘| D na go ZrMo OmZo na ?

àË¶oH àH aU ‘| CXmhaU H s ghm¶Vm go ì¶m»¶m H s{OE &

(b) ¶{X H moB© VÎd X g‘yh 14 ‘| pñWV h¡, Vmo BgHo ³bmoamBS ‘| Am~ÝY H s àH¥ {V
³¶m hmoJr ? ~ZZo dmbo ¶m¡{JH  H m amgm¶{ZH  gyÌ {b{IE &

(c) {H gr VÎd X H s Ðì¶‘mZ g§»¶m = 35 VWm Ý¶yQ´ m°Zm| H s g§»¶m = 18 h¡ & X H m
na‘mUw H« _m§H  ³¶m h¡ ? X H m Bbo³Q´ m°{ZH  {dÝ`mg {b{IE Am¡a BgH s g§¶moOH Vm
{ZYm©[aV H s{OE & 5 

(a) How does metallic character of elements in Modern Periodic Table

vary on moving from

(i) left to right in a period ?

(ii) top to bottom in a group ?

Explain with the help of an example in each case. 

(b) If an element X is placed in group 14, what will be the nature of

bond in its chloride ? Write the chemical formula of the compound

formed.

(c) An element X has mass number  =  35 and number of

neutrons = 18. What is the atomic number of X ? Write electronic

configuration of X and determine its valency.
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19. ZrMo {XE JE n[anWm| ‘|, àË¶oH n[anW ‘|, 2  à{VamoYH  Ûmam Cn¶moJ H s J¶r e{³V¶m|
H s VwbZm H s{OE : 5 

AWdm 

{H gr ~ë~ H m AZw‘Vm§H 40 W; 220 V h¡ & Bg ~ë~ H mo 220 V Amny{V© go g§¶mo{OV 

H aZo na ~ë~ Ûmam br J¶r Ymam kmV H s{OE & ~ë~ H m à{VamoY ^r kmV H s{OE & ¶{X 

Bg ~ë~ H mo 25 W; 220 V AZw‘Vm§H Ho {H gr ~ë~ Ûmam à{VñWm{nV H a X|, Vmo Ymam
Am¡a à{VamoY Ho ‘mZm| ‘| ³¶m n[adV©Z hmoJm ? AnZo CÎma H s H maU g{hV nwpîQ H s{OE Am¡a 

hmoZo dmbo n[adV©Zm| H mo {ZYm©[aV H s{OE & 5

Compare the power used in 2  resistor in each of the following circuits : 

OR 

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is 

connected to a 220 V supply. Also find its resistance. If the given bulb is 

replaced by a bulb of rating 25 W; 220 V, will there be any change in the 

value of current and resistance ? Justify your answer and determine the 

change. 
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20. (a) nanamJU Am¡a ñd:namJU Ho  ~rM {d^oXZ H s{OE & {H gr nwwîn Ho  {ZfoMZ Ho  ñWb 
Am¡a CËnmX H m C„oI H s{OE & 

(b) {ZåZ{b{IV ^mJm| H mo Xem©Vo hþE ñÌrHo ga H m Zm‘m§{H V AmaoI It{ME :
d{V©H mJ«, d{V©H m, AÊSme¶, ‘mXm ¶w½‘H  5

AWdm 
(a) ‘mZd ‘mXm Ho OZZ V§Ì H m AmaoI It{ME Am¡a {ZåZ{b{IV ^mJm| H mo Zm‘m§{H V

H s{OE :
(i) dh ^mJ Omo AÊS CËnÞ H aVm h¡ &
(ii) dh ^mJ Ohm± {ZfoMZ hmoVm h¡ &

(b) b¢{JH  g§MaU Ûmam hmoZo dmbo Xmo OrdmUw-O{ZV amoJm| H s gyMr ~ZmBE &
(c) J^©{ZamoYH  ¶w{³V¶m± ³¶m hmoVr h¢ ? ‘mZd Ûmam J^©{ZamoYH  ¶w{³V¶m| H mo AnZmZo Ho

Xmo H maU Xr{OE & 5 

(a) Distinguish between cross-pollination and self-pollination. Mention

the site and product of fertilization in a flower.

(b) Draw labelled diagram of a pistil showing the following parts :

Stigma, Style, Ovary, Female germ cell 

OR 

(a) Draw a diagram of human female reproductive system and label

the parts :

(i) which produce an egg.

(ii) where fertilization takes place.

(b) List two bacterial diseases which are transmitted sexually.

(c) What are contraceptive devices ? Give two reasons for adopting

contraceptive devices in humans.

21. (a) {ZåZ{b{IV {H g àH ma Ordm| ‘§o {dH mg Ho g‘W©Z ‘| à‘mU àñVwV H aVo h¢ ?

àË¶oH  H s CXmhaU g{hV ì¶m»¶m H s{OE &
(i) g‘OmV A§J
(ii) g‘ê n (g‘d¥{Îm) A§J
(iii) Ordmí‘

(b) Ordmí‘m| H s Am¶w {ZYm©[aV H aZo H s Xmo {d{Y¶m| H s ì¶m»¶m H s{OE & 5

(a) How do the following provide evidences in favour of evolution in

organisms ? Explain with an example for each.

(i) Homologous organs

(ii) Analogous organs

(iii) Fossils

(b) Explain two methods to determine the age of fossils.
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^mJ ¶ 
SECTION E 

22. VmµOo ~Zo \o ag gë’o Q {db¶Z ‘| q µOH  Ho  XmZo SmbZo na Amn ³¶m àojU H a|Jo ? AnZo CÎma
Ho  {bE H maU Xr{OE & 2 

What would you observe on adding zinc granules to freshly prepared

ferrous sulphate solution ? Give reason for your answer.

23. bmb {bQ‘g nona Ho nÌ Ûmam {H gr Aåb H s CnpñW{V H m narjU {H g àH ma {H ¶m
OmVm h¡ ? 2 

AWdm
Eogr{QH  Aåb Ho  JwUY_m] H m AÜ``Z H aZo Ho  {bE EH  NmÌ H moB© à`moJ H a ahm h¡ &
{ZåZ{b{IV àíZm| H m CÎma Xr{OE : 2 

(i) H m~©Z SmBAm°ŠgmBS CËnÞ H aZo Ho {bE Eogr{QH Aåb _| {_bm`o OmZo dmbo nXmW©
H m Zm_ {b{IE &

(ii) A{^{H« `m Ho  {bE g§~Õ amgm`{ZH  g_rH aU Xr{OE &
(iii) à`moJembm _| CO2 J¡g H m narjU dh {H g àH ma H aoJm ?

How is the presence of an acid tested with a strip of red litmus paper ? 

OR 

A student is performing an experiment to study the properties of acetic 

acid. Answer the following questions : 

(i) Name the substance he must add to acetic acid to produce carbon

dioxide.

(ii) Give the relevant chemical equation for the reaction.

(iii) How would he test CO2 gas in the laboratory ?

24. H moB© {ejH AnZo NmÌ H mo, H moB© CÎmb b|g d H moB© AdVb Xn©U, {OZ‘| àË¶oH H s
’ moH g Xÿar 20 cm h¡, XoH a Cggo {H gr XÿañW {~å~ H m à{V{~å~ àmßV H aHo  BZ XmoZm| H s
’ moH g Xÿ[a¶m± kmV H aZo Ho {bE H hVo h¢ & dh NmÌ {H gr XÿañW d¥j H mo {~å~ H s ^m±{V
Cn¶moJ H aHo , ~mar-~mar go BZ ¶w{³V¶m| Ûmam {H gr nX} na d¥j H m VrúU à{V{~å~ àmßV
H aVm h¡ & BZ XmoZm| àH aUm| ‘| b|g/Xn©U Am¡a nX} Ho  ~rM H s Xÿ[a¶m± d1 Am¡a d2 VWm BZHo
VXZwê n g§^m{dV VrúU à{V{~å~ hm|Jo
(a) (20 cm, 40 cm) Am¡a (grYm Am¡a grYm)
(b) (20 cm, 40 cm) Am¡a (CëQm Am¡a CëQm)
(c) (20 cm, 20 cm) Am¡a (CëQm Am¡a CëQm)
(d) (20 cm, 40 cm) Am¡a (grYm Am¡a CëQm)
AnZo CÎma Ho  {bE H maU Xr{OE & 2
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A teacher gives a convex lens and a concave mirror of focal length of 

20 cm each to his student and asks him to find their focal lengths by 

obtaining the image of a distant object. The student uses a distant tree as 

the object and obtains its sharp image, one by one, on a screen. The 

distances d1 and d2 between the lens/mirror and the screen in the two 

cases and the nature of their respective sharp images are likely to be 

(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)

(c) (20 cm, 20 cm) and (inverted and inverted)

(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer. 

25. O~ {‘brE‘rQa Am¡a dmoëQ‘rQa H m Cn¶moJ Zht {H ¶m Om ahm h¡ V~ {dam‘mdñWm ‘| BZH s

gwB¶m| H s pñW{V AmaoI A ‘| Xem©E AZwgma h¢ & O~ H moB© NmÌ BZ ¶w{³V¶m| H m Cn¶moJ

{H gr à¶moJ ‘| H a ahm h¡, Vmo BZH s gwB¶m| H s pñW{V AmaoI B ‘| Xem©E AZwgma h¡ & Ymam

Am¡a dmoëQVm Ho  CZ ghr ‘mZm| H mo {ZYm©[aV H s{OE {Ogo Cg NmÌ H mo AnZo n[aH bZ ‘|

Cn¶moJ H aZm Mm{hE & 2 

AmaoI A AmaoI B 

AWdm 
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{H gr à{VamoYH  go àdm{hV Ymam (I) H s Cg à{VamoYH  Ho  {gam| na {d^dmÝVa (V) na 
{Z^©aVm H m AÜ¶¶Z H aZo Ho à¶moJ ‘| {H gr NmÌ Zo AmaoI ‘| Xem©E AZwgma J«m’ àmßV
{H ¶m &  
(i) ¶h J«m’ {d^dmÝVa na Ymam H s {Z^©aVm Ho {df¶ ‘| ³¶m {M{ÌV H aVm h¡ ?

(ii) O~ à{VamoYH  Ho  {gam| na {d^dmÝVa 2·5 V h¡, V~ Cggo àdm{hV Ymam kmV
H s{OE & 2

The rest position of the needles in a milliammeter and voltmeter, not in 

use, are as shown in Figure A. When a student uses these instruments in 

his experiment, the readings of the needles are in the positions shown in 

Figure B. Determine the correct values of current and voltage the student 

should use in his calculations. 

Figure A Figure B

OR 
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In the experiment to study the dependence of current (I) on the potential 

difference (V) across a resistor, a student obtained a graph as shown. 

(i) What does the graph depict about the dependence of current on the

potential difference ?

(ii) Find the current that flows through the resistor when the potential

difference across it is 2·5 V.

26. ‘‘a§Y« Xem©Zo Ho  {bE {H gr nÎmr Ho  {NbHo  H m AñWm¶r AmamohU V¡¶ma H aZm’’, à¶moJ ‘|

p½bgarZ Am¡a g¡’«o {ZZ H m Cn¶moJ {H ¶m OmVm h¡ & BZ Ðdm| H m Cn¶moJ H ~ Am¡a ³¶m| {H ¶m

OmVm h¡ ? ì¶m»¶m H s{OE & 2 

In the experiment ‘‘To prepare a temporary mount of a leaf peel to show

stomata’’, glycerine and safranin are used. When and why are these two

liquids used ? Explain.

27. ‘Qa Ho ~rO Ho  ^«yU Ho  {ZåZ{b{IV ^mJm| H mo Xem©Zo Ho {bE Zm‘m§{H V AmaoI It{ME : 2 

~rOnÌ, àm§Hw a, ‘ybm§Hw a 
AWdm 
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{H gr NmÌ Zo hmBS´ m ‘| Ab¢{JH OZZ Xem©Zo dmbr ñWm¶r ñbmBS H m àojU {H ¶m & Cg

{dÚmWu Ûmam {H E JE àojUm| H m C{MV H« ‘ ‘| Zm_m§{H V AmaoI It{ME & Bg OZZ H s 

à{H« ¶m H m Zm‘ ^r {b{IE & 2

Draw labelled diagram to show the following parts in an embryo of a pea 

seed : 

Cotyledon, Plumule, Radical 

OR 

A student observed a permanent slide showing asexual reproduction in 

Hydra. Draw labelled diagram in proper sequence of the observations 

that must have been made by the student. Name the process of 

reproduction also. 
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